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Question 1- What will come 1n the place of the question mark ?’ in the
following question?
(ETTREd T | 9% Toig 12" oh T 9 =T ST

7 5
gof 78 + gof 140.2

092
A. 155.875
= L€ For NERTANS B 196.825
¥ _¥30 C. 116.825
= ]jg'&ﬁ D. 136.725

E. None of these

e
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Question 2- What will come 1n the place of the question mark ?’ in the
following question?
fefetiiad g1 ° s FoIg 12" o TATH O =T ST

8% of 555 + 35% of 666

|
____)@55 + F x/g/g A. 277.6

B. 177.6
- 221 Q?35|3° C. 1216
P 277.5

;Q:HS E. None of these

https://t.me/mathbytarunsirmepl
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Question 3- What will come 1n the place of the question mark ?’ in the

following question?
TR 97 | 97 1@ 2 oh T I =T SAT?
4478 X 4412 + 445 = 44 x 44’

X
_Lr_LL - buxay ‘]:' ;2
o 30 3
1:3 D. 4

— E. None of these

https://t.me/mathbytarul@
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Question 4- What will come 1n the place of the question mark ‘?’ in the

following question?

et w1 5 vy fag 19" o T I SR:IT ST

7 361
) 729 7
X=TRIx 3¢ A. 213
2 30 B. 313
L= F X9 C. 233
L-53 B 513

E. None of these

https://t.me/mathbytarunsirmepl
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Question 5- What will come 1n the place of the question mark ‘?’ in the

following question?

Aeferfaa v & vy fog 12" o T 9 =T STmu?
V2+ 24 = 7744

_Jx= 99-31

Ja< ¢, (3 _ _B. 4096
( 2 HLOJ(\L‘%C C. 3396
)= (@1) | — D. 2296

E. None of these

A. 3096

https://t.me/mathbytarunsirmepl
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Question 6- What will come 1n the place of the question mark ‘?’ in the
following question?

frefeTiad T2 o w1 Torg 12" o T I =T SAW?

95% of 420 + 7% of 540 =735

Q}j o 0 ] A. 56
- B. 46.22
O 35 33 N 2% Le—62.22

=622 D. 6622
E. None of these

https://t.me/mathbytarunsirmepl
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Question 7- What will come 1n the place of the question mark ‘?’ in the

following question?
et w1 5 vy fag 19" o T I SR:IT ST
30% of 2225 — 64% of 555 = 9

= 66T5- 16 5‘5% A. 3112

30 B. 313.3

66:(‘3 355 > C. 3273

. 3{ ) D~ 312.3
Q?\j E. None of these

https://t.me/mathbytarunsirmepl
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Question 8- How many litres of water should be added to a 60 litre mixture

of milk and water containing milk and water in the ratio of 7 : 3 such that the

resultant mixture has 40% water 1n 1t?

T 8- 8T SR T aTed 81 3 UTHT o6 60 AT feor | 7 2 3 o guTa | fohe
et art frerra st =few drfer afcome fargror o 400, g 219

)\107,:’ & A. 20L
o B. 30L
(& 10L
D. 40 L
E. None of these

30

https://t.me/mathbytarunsirmepl
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Question 9- The S.I on certain sum of money for 15 months at rate of 7.5% per

annum exceed the S.I on_same sum at 12.5% per annum for 8 months by Rs

6500 find sum? -
T 9- 15 HEHT o6 AT 7.5% Tt 99 <Al 2T 9 Ueh TS SRSt 9T 9T s3It 8
e ok 7T 12.5% "fe a9 1 <0 & g8 UL 98 e sA1sT 8 6500 T93F 3770 27

15 < A. Rs 524000
2 ’?W B. Rs 424000
I 30 _C—Rs 624000
Pl U, D. Rs 724000

E. None of these

https://t.me/mathbytarunsirmepl
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Question 10- 4 men and 3 women finish a job in 12 days, and 5 men and 7

women can do the same job in 8 days. How long will 2 man and 2 woman take

to do the work?

T 10- 4 T8 37 3 AT Tk 1 i 12 T H 90 L &, 3T 5 T8 3R 7

HiEATd 36T Sl T 8 oA H T Tehel &1 2 TeW N 2 HIEAT T bl G hiA H fohef1

qug AT?

30

https://t.me/mathbytarunsirmepl

A. 12 days
B. 18 days
C. 15 days
D. 14 days
(E+ None of these
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M (hmt30)xig = (5178
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Question 11- P and Q started a business with initial investments in the ratio 3 :
_8. If after one year their profits were in the ratio 1 : 3 and the period for Px’s

investment was 8 months, B invested the money for

IT 11-P I Q A 3: S*MAqldﬁmﬁéﬁr%W\oh SERIRRINERIIRI
Teh Y o S1¢ TR AT 1 3%a4q|dﬁm3ﬁraa€ﬁéﬂﬁmﬁ18ﬁ9ﬁ?ﬁ
@@ﬁ%mﬁﬁmfmﬂ%%@%‘? A 3 months

B. 5 months
30 —€779 months
D. 8 months
E. None of these

https://t.me/mathbytarunsirmepl
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Question 12- What 1s the difference between the compound interests on Rs.
4000 for 1 years at 4% per annum compounded yearly and half-yearly?
T 12- 4000 T 9T 1 Y ok feTT 4% T 9 skl G A skl SATST o sl 3l 3

T B2

4 o
;“Q/c = k9

A. Rs?2.6
3 %0 B. Rs3.6
“"LT‘O‘“I‘% 30 C. Rs4.6
— D Rsl6

E. None of these

https://t.me/mathbytarunsirmepl
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A. 320 km
B. 320 km
C. 360Kkm
D. 270 km
E. None of these

Question 13- The speeds of A and B are 30 km/h and 40 km/h. Initially
B 1s at a place Q and A 1s at a place P. The distance between P and Q 1s
750 km. A started his journey 4 hours earlier than B to meet each other.
If they meet each other at a place R somewhere between P and Q then
the distance between R and Q 1s :

T4 13- A 3R B 3h1 7T 30 foRul/EiET 3T 40 forei/sier &1 TR H B Teh €4
T E Q I A Teh ¥ P W 2| P AT Q o off=r il gl 750 FohrlT 81 A T T
T Y o o o1 B 9 4 52 uget 19T A1 3% 1| Ff o P 3R Q & sfier

el R T T Ush-gfl § Terd €, T R 31T Q o off=T oht gl m &2

30
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Question 14- The average weight of boys in a class is 60 kg and the average
weight of girls in the same class is @(g If the average weight of the whole
class 1s 46.50 kg, what could be the—i);ssible strength of boys and girls

respectively in the same class
T 14- Teh heqT § TISh] T I 9919 60 Tohallum 8 3T 36 hedT § Al 1
3frerd oSt 40 foReTam 81 afe qi et o1 STHa IS 46.50 FRIT 2, a1 9T sher |

o N

SFHRT: TTSehi I ASIRAT ! HWTford AT RTETTRAE? 4 11.97

\}/1327

30 C. 17:27
D. 21:29

https://t.me/mathbytarunsirmepl E. None of these
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Question 15- What would be the area of a rectangle whose area 1s equal to
the area of a circle of radius 14 cm?

3 ST ohT &IAH FAT BT [STHGRT &A% 14 GHT FBISar aTet I & &hd &
ST 82

A. 4l4cm
30 B. 514cm
C. 426cm

P16 cCM
E. None of these

2
2
2
2
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Question 16- What will come 1n place of question mark 1n the given
series.

T 16- 31 15 F@AT H 9% g o T W FAT ATTI?
24,11,4.5,1.25,7

M - |55 A. 0.225
3 | L2-1= Q%
) Q B. 0.375
— - =
S C. 0475
. 0.455
E None of these

https://t.me/mathbytarunsirmepl
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Question 17- What will come 1n place of question mark 1n the given

series.

95 17- 31 715 Sl H 99 <@ o T 9 AT ST

1,14,40,79, 131, 7

3 3 39 52 A. 191
B. 186

3@%5:&6\ —C 196
—= D. 116

E. None of these

https://t.me/mathbytarunsirmepl
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Question 18- What will come 1n place of question mark 1n the given

series.
T 18- 31 75 Sl H 9% <@ o T 9 AT ST

.

930 60 |20 24 A. 368
. 468
30’2A&HL{O>H@ C. 458
S D. 486

E. None of these

https://t.me/mathbytarunsirmepl




SBI CLERK 2023

-

Question 19- What will come 1n place of question mark 1n the given

series.

T 19- 31 715 Sl H 99 <@ o T 9 AT ST

bu(\{\, , 135,37

30

—A—405
180x3= Hos B. 415
- C. 305
D. 315
E. None of these

https://t.me/mathbytarunsirmepl
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Question 20- What will come 1n place of question mark 1n the given

series.

57 20- 31 715 JEaT H 99 <@ o T 9 AT ST

T Th T g

Ps
89 03

https://t.me/mathbytarunsirmepl

) PN

0.13
0.23
0.43
0.33

None of these
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